QUESTION:

A 3kg box is pushed with a force of 15 N across a friction less floor for 3 second. What is the
power exerted on the box?

SOLUTION:
Power is

p-W
t
Where work W =F-s

As floor is frictionless:

F=m-a
F
a=—
m
at> Ft’
S=——=—
2 2m
Hence
W=F-s
F’t’
- 2m
And power
F’t?
P= ﬂ —2m _ L%
t t 2m
2
P= 1573 =1125 W
2-3
Another way:
According to the work-energy theorem, in this case
W= mv’
2
v=at
F =ma
F
a=—
m
L= E, hence
m
mv’ m(Ft) mFt F
W = = —| — = 2 =
2 2\{m 2m 2m
And power
Ft’
2
pP= w _2m _ Ft
t t 2m
2
P= 1573 =1125 W
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